MATH 120 €, GrAveon, ExAam #2 O« \7, 2001
Na\me: ANSWERQ Discussion Seckon: _

No caleulators . S(m?l\‘{:\‘m‘tt‘ovx ie eptioval.

t]10fio jiojto [10]lo

Usefu] formulas : HMARNMANRZ

d/dx (sin %) = /G x= d/dx (sinh'x) = \/Texz

d/dx (eos™ x) =-I/Txx  d/dx (cosh” x) = I/ \x= 1

A/OLX (tanx ) = I/(H-)xz) &/ dx (’tqn}\-‘x) S I/G —x%)
cosh? « —Sith W = I-tanWw = sech®™«

4. (\0 ?’ts) C\nn?a\c d% ((7‘33 + 1) (X+\333)
X

() e+ (33 D

d « = 2
z. (o pts) Com pute o (Sm cosh x ).

\‘ ! '(Si‘nh x?) * 2x
| — (cosh x?)*

3. (10 pts) Compute L3

AX(.T\J—ZS?B.
(‘5‘2—_711 _ x_%(xz_\)—\/z‘ 9 )/(Xl"‘)

4, (\0 Pfs) Qomr\de (ja(jl (i * 7(2)). i

4
dx

\ \ - 2%

2w 2 \ + x*
5. (lo \a\‘s) Compute %((27‘ + 'XZ n ,XX)'
x.QM a’)

=gn2 -2 + 2x +§,(e

3,@\“2—2}(*2)("—7(7-(7("—4' A_~JZ)\X)

x
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G. (w0 ) Evaluate L

X\ xX—=1
with @ derivotive £7a) of some QLunckion £ at some

ba id.eh’l“\ {d§h3 '\+

Va\ue a, State Joue <holces . ‘p(\():—QV\ X O\:‘
The o gl g S0 e 4 L0
X>& X< a a \

- ( ¢ ffs) The figure shows the graphs of four functions. One is the
. position function of a car, one is the velocity of the car, one is -
& acceleration, and one is its jerk. Identify each curve, and
~ ' explain your choices. 9 is the Oh\j funcrion whick
' — \S O when hag . its may | o
For e Same Yeasonh,

\aa/.
/ p s a\wans increa~

aQa=v'.
> Sing so it derivative must
)
Fobe Q\,UUO\OS Pos({-\‘ve, ond T >0,
so wv=p . {7/ would cross

‘tu\'c.e) but wno othe?®

&= ¢
the ax(s Y o o Here.

curve doees that ss
(Thes ds 377 #A 7))

2, (\2 ?\S) Find the glope of the tangent kne at Ahe
point (1,2) to the curve defined Sa the
uation 7(3+ 3 _ ~w =7 . Wreite down eai,ua*\‘ons

fr the tangent  ltae  and normal  tine at  Ahat poin®.
3xTr3ytyl - xy/ —y =0

(3yr w7’ = 53R
)./ = (y —2x2)/ (3" ~x)

o x=\ y=1 g (9_—3)/(\1—”:—‘/\\ €Cor

the slope B
tang line - y -2 = —Yw (x=1)
pmd lme : y-z = W Ox7)



’fc&&e g

2. (o Tt‘> T a ball is throww Verhu\\\a/ apward
:u{H\ a Velnc.{-ht\ of 64 St/s, Hen b keiakt a\ftev + <Seconds
s s= G4+t — 16+*. - What is the wmaximum height
reached by the ball?  What ts the velocity o the ball
wWhee £t “(s 48 4t oabove the cav‘our\d on Wts Way Wp?
On s Way down 2 6 e
Q/z V _ i; /dt = Ve\od*n = 64 — 32t

¥ =90 aX the -"QY) i 6* :72t) o '(:*-2

s(2) = wox height = 64-2 ~ b-4 = 64 Ft

() = 4€ = s(3
S/(V = 64 — 32
g/(g) = G4’ -32-3

(5&15{ Like 2.3 % &)
(6. (6 Pts) Show  how te prove the produck

_ 32 fc/sec
= —32 ‘?t/gec

vale & (yw) = du N dr
A ax dx dx
2 (uv) = fom (Wt ALY v+ Av) «u\r= Lo Au v.4 U OV 4 Aw Ao
d)l AxX >0 A)‘ Ax=0 Ax
(o %) v wln (B A\Y bv\ (g A
™ m = » kel ’ b A
(by—w B OHx—>o ( Px ) .AQ:"‘O 7o) D)') 'aAU;—m )

= du dvr w o _ .0y
R I -l - A
i1 (¢ s;*s\ Show how to ‘prove that

ﬁ;(cos\f"x) = 1/ -1

y = coshh | X x = cosh Y

Sfax = S hay T VS /{’Tﬁ
=V



